

Date: 2025 May 30

①

$$\textcircled{1} \quad \vec{\nabla} \times \vec{E} = i\omega \vec{B}$$

$$\vec{\nabla} \times \vec{H} = -i\omega (\vec{D} + \vec{P})$$

$$\vec{D} = \epsilon \vec{E}$$

$$\vec{B} = \mu \vec{H}$$

Plaque

$$\vec{k}_1 + \vec{k}_x = \vec{k}_x$$

$$k_y + k_x$$

$$\textcircled{2} \quad \vec{\nabla} = \vec{\nabla}_1 + \hat{z} \frac{\partial}{\partial z}$$

$$= i\vec{k}_1 + \hat{z} \frac{\partial}{\partial z}$$

$$\textcircled{3} \quad \hat{z} \cdot \vec{\nabla} \times \vec{E} = i\omega \hat{z} \cdot \vec{B}$$

$$\hat{z}, i\vec{k}_1, \hat{z} \times i\vec{k}_1$$

$$\textcircled{3} \quad \vec{E} = \hat{z} (\hat{z} \cdot \vec{E}) + \frac{i\vec{k}_1 (\vec{k}_1 \cdot \vec{E})}{(ik_1)^2} + \frac{(\hat{z} \times i\vec{k}_1) \hat{z} \times i\vec{k}_1 \cdot \vec{E}}{(ik_1)^2}$$

$$= \hat{z} E_z + i\vec{k}_1 E_u + (\hat{z} \times i\vec{k}_1) E_v \underbrace{(z, k_1)}_{\omega}$$

$$\textcircled{4} \quad \vec{\nabla} \times \vec{E} = \left( i\hat{k}_x + z \frac{\partial}{\partial z} \right) \times \left[ z \vec{E}_z + i\hat{k}_x E_u + (z \times i\hat{k}_x) E_v \right] \textcircled{2}$$

$$= -(z \times i\hat{k}_x) \vec{E}_z - z \hat{k}_x E_v + z \times i\hat{k}_x \frac{\partial}{\partial z} E_u - i\hat{k}_x \frac{\partial}{\partial z} E_v$$

$$= -z \hat{k}_x E_v - i\hat{k}_x \frac{\partial}{\partial z} E_v + (z \times i\hat{k}_x) \left\{ \frac{\partial}{\partial z} E_u - \vec{E}_z \right\}$$

$$\textcircled{5} \quad i\omega \vec{B} = z i\omega B_z + i\hat{k}_x i\omega B_u + (z \times i\hat{k}_x) i\omega B_v$$

$$\textcircled{6} \quad z : -\hat{k}_x E_v = i\omega B_z$$

$$i\hat{k}_x : -\frac{\partial}{\partial z} E_v = i\omega B_u$$

$$z \times i\hat{k}_x : \frac{\partial}{\partial z} E_u - \vec{E}_z = i\omega B_v$$

③

⑦  $-k_z E_y = i\omega B_z \quad \forall (i)$

$-\frac{\partial}{\partial z} E_y = i\omega B_z \quad (ii)$

$\frac{\partial}{\partial z} E_u - E_z = i\omega B_v \quad (iii)$

$(iv) \quad -k_z H_y = -i\omega [D_z + P_z]$

$(v) \quad -\frac{\partial}{\partial z} H_y = -i\omega [D_u + P_u]$

$(vi) \quad \frac{\partial}{\partial z} H_u - H_z = -i\omega [D_v + P_v]$

⑧  $(i') \quad \frac{\partial^2}{\partial z^2} E_u - \frac{\partial}{\partial z} E_z = i\omega \frac{\partial}{\partial z} H_v$

$\sqrt{\frac{\partial^2}{\partial z^2}}$

⑨  $(v) \quad -\frac{\partial}{\partial z} H_v = -i\omega \epsilon E_u - i\omega P_u.$

$\frac{1}{i\omega \epsilon} \frac{\partial}{\partial z} H_v = E_u + \frac{P_u}{\epsilon}$

$$(10) \quad \frac{1}{i\omega} \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} H_V = \frac{\partial}{\partial z} E_u + \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon}$$

using (iii) above.

$$\frac{1}{i\omega} \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} H_V = E_z + i\omega H_V + \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon}$$

using (iv) above.

$$\frac{1}{i\omega} \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} H_V = k_z \left( \frac{k_z}{i\omega} H_V - P_z \right) \frac{1}{\epsilon} + i\omega H_V + \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon}$$

$$\frac{1}{i\omega} \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} H_V - \frac{k_z^2}{\epsilon} H_V + \omega^2 H_V = - \frac{k_z}{\epsilon} i\omega P_z + i\omega \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon}$$

$$H_V \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} H_V - \frac{k_z^2}{\epsilon} H_V + \omega^2 H_V = - \frac{k_z}{\epsilon} i\omega P_z + i\omega \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon}$$

$$- \left[ \frac{\partial}{\partial z} \epsilon \frac{\partial}{\partial z} - \frac{k_z^2}{\epsilon} + \omega^2 \right] H_V(z, k_z, \omega) = i\omega \left[ \frac{k_z}{\epsilon} P_z + \frac{\partial}{\partial z} \epsilon \frac{P_x}{\epsilon} \right]$$

$$\textcircled{11} - \left[ \frac{\partial}{\partial z} \frac{1}{\epsilon} \frac{\partial}{\partial z} - \frac{k_z^2}{\epsilon} + \omega^2 \right] g^H(z, z') = \delta(z - z')$$

$$\downarrow g^H(z, z'; k_z, \omega)$$

$$\textcircled{12} \quad \frac{\text{H-mode}}{\frac{\partial}{\partial z}}$$

$$E_u - k_z E_z = i\omega H_v \quad \text{--- (i)}$$

$$-\frac{k_z}{-i\omega\epsilon} H_v = E_z + \frac{P_z}{\epsilon} \quad \text{--- (ii)}$$

$$-\frac{\partial}{\partial z} H_v = -i\omega \left[ \epsilon E_u + P_u \right] \quad \text{--- (iii)}$$

$$\textcircled{13} \text{ Using } \textcircled{10} \text{ and } \textcircled{11}$$

$$H_v(z) = \int dz' g^H(z, z') i\omega \left[ \frac{k_z}{\epsilon} P_z - \frac{\partial}{\partial z} \frac{P_u}{\epsilon} \right]$$



(14) Using (13) in (12) - (ii)

$$E_z = \frac{k_z}{i\omega} H_y - \frac{P_z}{\epsilon}$$

$$= \frac{k_z}{i\omega} \frac{1}{\epsilon(z)} \int dz' g^H(z, z') i\omega \left[ \frac{k_z}{\epsilon(z')} P_z - \frac{\partial}{\partial z'} \frac{P_u}{\epsilon(z')} \right] - \frac{P_z}{\epsilon(z)}$$

$$= \int dz' \frac{k_z^2}{\epsilon(z)\epsilon(z')} g^H(z, z') P_z(z')$$

$$+ \int dz' \frac{k_z}{\epsilon(z)} \frac{1}{\epsilon(z')} \left\{ \frac{\partial}{\partial z'} g^H(z, z') \right\} P_u(z')$$

$$- \int dz' \frac{\delta(z-z')}{\epsilon(z)} P_z(z')$$

$$E_z = \int dz' \left[ \frac{k_z}{\epsilon(z)} \frac{1}{\epsilon(z')} \frac{\partial}{\partial z'} \right] P_u(z') + \frac{k_z}{\epsilon(z)} P_z(z')$$

(15)

Using

(13)

in

(12) - (iii)

$E_u$   
 $H_v$   
 $E_z$

$$\frac{1}{i\omega} \frac{\partial}{\partial z} H_v = \epsilon E_u + P_u$$

$$E_u = \frac{1}{i\omega} \epsilon \frac{\partial}{\partial z} H_v - \frac{P_u}{\epsilon}$$

$$E_u = \frac{1}{i\omega} \frac{1}{\epsilon(z)} \frac{\partial}{\partial z} \int dz' g''(z, z') i\omega \left\{ \frac{k_z}{\epsilon(z')} P_z - \frac{\partial}{\partial z'} \frac{P_u}{\epsilon(z')} \right\} - \frac{P_u}{\epsilon}$$

$$= \int dz' \left\{ \frac{k_z}{\epsilon(z')} \frac{1}{\epsilon(z)} \frac{\partial}{\partial z} g''(z, z') \right\} P_z$$

$$+ \int dz' \left\{ \frac{1}{\epsilon(z)} \frac{\partial}{\partial z} \frac{1}{\epsilon(z')} \frac{\partial}{\partial z'} g''(z, z') \right\} P_u$$

$$- \int dz' \frac{\delta(z - z')}{\epsilon} P_u(z')$$

(8)

$$\begin{bmatrix} E_u(z) \\ E_v(z) \\ E_z(z) \end{bmatrix} = \int dz' \begin{bmatrix} \frac{1}{\epsilon(z)} \frac{\partial}{\partial z} \frac{1}{\epsilon(z')} \frac{\partial}{\partial z'} g^H & 0 & \frac{k_z^2}{\epsilon(z)\epsilon(z')} \frac{\partial}{\partial z} g^H \\ \frac{k_z^2}{\epsilon(z)} \frac{1}{\epsilon(z')} \frac{\partial}{\partial z} g^H & 0 & \frac{k_z^2}{\epsilon(z)\epsilon(z')} g^H \end{bmatrix} \begin{bmatrix} P_u(z') \\ P_v(z') \\ P_z(z') \end{bmatrix}$$

factor  
of i

$$+ \int dz' \begin{bmatrix} -\frac{\delta(z-z')}{\epsilon(z)} & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & -\frac{\delta(z-z')}{\epsilon(z)} \end{bmatrix} \vec{P}$$

→ disjoint  
conf.  
= 0

$$\vec{E}(z) = \int dz' \vec{\Gamma}(z, z') \cdot \vec{P}(z')$$